
6545 East 21st Place • Tulsa, Oklahoma 74129 
(918) 835-6926 

Toll Free 1-800-688-6926 

DIAMOND S TRUCKING 
BILLTOCash Bale - Thank You 

289-7829 DONNA OR LEE 
9  OK 
(918) 437-1499 

YEAR: 
MODEL: KW T600 

ODO: 
Miscellaneous: 

$2
4
10
.
30
  

CC. 
C-.11 

‘011- . 

•CIC 
0-- 

-J 

O 
I- 

CUSTOMER COPY 

INVOICE NO: _ 	_ 	_ 
DATE: 

. SHIPPED VIA:-
/13/ 1 4 

FOB: 
TERMS:c ash 

CUSTOMER CODE:1,40F 
ORDER NO: 

ORDER DATE:06/13/14 
P.O. NO: 

TAG: 2RC349 
VIN: 

UNIT*: 42 

  

  

 
 

 

EXTENSION LINE 
Na 

QUANTITY 	 PART NUMBER 

 

DESCRIPTION LIST NET 

 

  

  

 
 

  

  

  

 
 

  

9T0.72 619.43 
4y0.00 

	

0.00 	0. 75 

	

n'-1 	10.88 
0. 75 --' 7.07 

	

54. 06 	£4. 

	

69.21 	45. 40 

	

1. 19 	0. 78 

	

4. 31 	2. 71 

	

4. 75 	2. 9 7 

	

3.03 	1.43 
0.00 200.00 

	

40.99 	,L1.48 

	

78 	3.85 

	

1.86 	1.37 

	

1.42 	0.81 

	

0.80 	0.44 

	

0. 65 	0.32 

	

0.16 	0. 09 

	

0. 7 1 	0. 50 

	

x:2.97 	.4.38 

PS GEAR/REMAN 

PKG114 
PS FILTER-FL 
ROTELLA 15/40 MOTOR OIL 
THREADED BUSHING-METRIC 
:PARING PIN/METRIC 
GREASE ZERK 
FLANGE BOLT-5/8 X 2 1/2 
FLANGE BOLT-5/8 X 3 
FLANGE NUT 5/8 
CORE CHARGE 
GRADE 8 BENT U-BOLTS 
CENTER BOLT-1/2 X 6 
CI. (P BOLT--3/3 X 5 
CLIP BOLT FERRAL 
GRADE 8 BOLT-5/16 X 1 
5/16 LOCK. NUT 
5/16 FLAT WASHER 
5/16 FENDER WASHER 
4 K 1 1/2 SHIM 

FRONT END ALIGNMENT 
R8A BOTH FRONT SP'UNGS & BOTH SHACKLE BRCTS. 
REPAIR & ASSEMBLE 2 SPRINGS 
REBUSH 2 SPRING SHAKLE HANGERS 
REPLACE BAD STEERING GEAR & WELD RESIVOIR CRACK 

= 
1-.1--  CO= I- 

i-i 
V CC 

11,1 
',TAD 

T!- O? M m  
4  g2. 

.:- 	 •,;‘ 

1 TAS65218 
0 CORE CHARGE 

	

002 	2 NS( - 

	

(03 	1 3937557S 

	

004 	4 ROT 
O05 	6 TB77 

	

006 	6 327540 

	

o07 	6 GZ 

	

t,)08 	2 FL 58212 

	

09 	1 F" L583 
▪ i 0 	3 FLN58 

	

t11 	1 NBC 

	

)12 	4 .3426 

	

013 	2 CB640 

	

n14 	2 RC1 11 

	

015 	2 ukr 

	

t)16 	3 F51610008 

	

()17 	3 EN 31.6 

	

48 	3 FW.516 

	

19 	3 516FEW 

	

020 	I ALI072 

699.43 

1.50 
20,88 
28.28 

205.68 
2-2.40 

4.68 
5.42 
2.97 
4.29 

200. Of Ce 

85.92 
7.78 
2. 74 
1.62 
1.3a 
0.96 
0.,27 
1. '0 

14.36 
8. 00 

345.00 
95.00 
40.00 

135.00 

9 562.0E 
700.05 

0. 00 
14,00 

134.8 

2, 410. 30 

Paris 
Labor 
Frelpht 

Tax 

Total 

DISCLAIMER OF WARRANTIES 
Any warranties on the product sold hereby are those made by the manufacturer. The seller here-
by expressly disclaims all warranties, either express or implied, including any implied warranty 
of merchantability o fitness for a particular purpose, and seller neither assumes nor authorizes 
any other person to assume for it any liability in connection with the sale of said products. 

I hereby authorize the above repair work to be done along with the necessary 
material. You and your employees may operate above vehicle for purposes 
of testing, inspection or delivery at my risk. An express mechanic's lien is 
acknowledged on above vehicle to secure the amount of repairs thereto. You 
will not be held responsible for loss or damage to vehicle or articles tell in X 
vehicle in case of fire, theft, accident or any other cause beyond your control. 

AUTHORIZED SIGNATURE 

IT Stock
Text Box

IT Stock
Text Box

IT Stock
Text Box



OPERATION 2 

COMPLAINT: 

VMRS CODE: 
CORRECTION: 

 

 

CHECK CODES DONT WORRY ABOUT COOLANT VOLT CODES 
VSS 
01-04 5 - 021 - 003-09-08 
TROUBLESHOOTING - ELECTRONIC CONTROL MODULE (ECM) - 
ELECTRONIC ENGINE CONTROL - ELECTRONIC ENGINE CONTROLS IMPROPER ELECTRICAL VALUE 

CONNECT COMPUTER PRINT AND CHECK CODES HAD CODES FOR LOW COO LANT AND VSS CLEAR CODES 

Labor Total -- 	205.20 
MACHINE 	PC DIAGNOSTI 	1 	 25.00 

Parts Total --
Total Operation 2 -- 

PC DIAGNOSTIC 
25.00 
25.00 

230.20 

	 OARTVe 	  
OU Pin  rill  insr E:T•N 

Labor Total 
Parts Total 

Shop Supplies 
Sales Tax 

Machine Charge 

718 20 
113 33 
86.18 
18 96 
25.00 

Delco 
thorny 

REMIT TO: 
P.O. BOX 879269 
KANSAS CITY, MO 64187-9269 

TOTAL DUE 
	

961.67 

=ON 
MEMI 

MI= 

MINIM 

In= 

NM= 

From:MURPHY-HOFFMAN COMPA To:8663702879 Diamond S Trucking 	Msq#6094123.0.1 	01/14/2014 20:57 Page 2 of 3 

SERVICING DEALERSHIP 
OKLAri OF AKENY:ORTM , iNC Esg ♦ 

MHC KENWORTH - TULSA 
6141 SOUTH 49TH WEST AVENUE 
TULSA, OK 74131 

1-918-446-5521 

55 Dealers in 11 States, www.mhctruck.com  

REPAIR ORDER INVOICE 
Customer Number: 	157720 Phone: (918) 437-1499 

	
Invoice Number: R00483700162241 

170i(00Wi: :::".*iiiCM :: : • 	• 7 4,0.1 	P*te -  filtiV-100iPOIC.... 
TAX CHARGE 117724 1/10/2014 1/13/2014 

1 1111111111111111111111111111111111111111111111111 1 1111111111111111111111111111 

Diamond S Trucking 

406 Tiger Switch Rd 
Catoosa OK 74015 

\L  
\ 

.:SertatNiini :::::: ...:::::::- •  tiit:Ntimber: 	 • 	1•Miike:f. . 	 ---:  .:7Y 	r<:- >: idtifteNitiiittlit: ' :::::**10ark -::-:- 

1XKAD49X27J169610 42 	 i KW/T600B 2007 1288453 

OPERATION 1  

COMPLAINT: REPLACE EXHAUST MANIFOLD STUD ISX 
VMRS CODE: 01-043-002-003-03-12 
CORRECTION: REPLACE WITH NEW - GASKET - EXHAUST MANIFOLD - EXHAUST 

MANIFOLD - BROKEN 
CHECKED AND FOUND STUDS BROKEN AND MOUNTING NUT ON TURBO MIS 
SING REMOVE TURBO AND MANIFOLD DRILL AND EXTRACT OUT BROKEN 
STUDS CLEAN HEAD AND MANIFOLD PUT BACK TOGETHER RUN ENGINE 
RECHECK FOR ANY LEAKS 

Labor Total 	-- 	513.00 

3101268CUM GASKET,FLA. 1 4.04 4.04 

3102314CUM GASKET,ISX TURBO MT. 1 11.42 11.42 

3679445CUM SPACER,MOU. 2 7.54 15.08 

3682710CUM GASKET-EXHAUST MANIFOL 4 13.18 52.72 

3682940CUM GASKET-EXHAUST MANIFOL 1 13.62 13.62 

4965698CUM SCREW, HEX . 2 5.01 10.02 

4985492CUM NUT,HEXAGO. 1 6.43 6.43 
Parts Total 	-- 113.33 

Operation 	1 	-- 626.33 Total 

CONTINUED 

PLEASE PAY TOTAL ON LAST PAGE 

TERMS AND CONDITIONS OF THIS SALE ARE SET FORTH BELOW AND THOSE CONTAINED AT www.mhctruck.com 
 WHICH ARE INCORPORATED HEREIN BY THIS REFERENCE .  

t. PAYNE NT. 	Customer shall pay Dealer tne total amount listed on tne Omer. which snail ce due m call upon me tender by Dealer to Customer of ow Pam. unless aria trim creed terms kr Customer are 3pOrOwecl r a  .re ng  

signed by a corporate Officer or  aranonZed manager or the Dealer. For Customers whose creed has been Poly 3pann.eci or ailyance try Deaier er a writing sgne0 by 3 cog-130,3re OrniCer a autnosiecl manager a Ctaleh 	arnouls 

due to Dealer tor the Parts shall be in accordance wan the terms of the Creed Agreement executed by Customer in connection with applying kd creed Anth Deaier Ire teens 	
praidrsOrrs any such Credit Agreement Signed 1y 

Customer are incorporated herein An ;merest charge of 1 5% per month will or charged on pas due oalances 

2. ARBITRATION: 	Any Controversy or Claim an Sing Out Or or relating to Me Order Shad be ciecieee by artxtrati on aammisterea by me Amencan Arbitration Association in accordance canes oommer-crar Antra do FrUeS. 313)31O1 

to the limitations and restrictions as set forth in the Terms and Conditions contained at www mhdruck comrdealersaenns 

Customer Copy 
PAGE: 1 
PAI-IC2SCRO(01 607 ) 

From:MURPHY-HOFFMAN COMPA To:8663702879 Diamond S Trucking _Msg#6094123.0.1 	
01/14/2014 20:57 Page 2 of 3 

MIN 

MEN 
NEM 

=MN 

157720 	Phone: (918) 437-1499 

CNAHC 
55 Dealers in 11 States, www.mhctruck.corn 

REPAIR ORDER INVOICE 
Customer Number: 

SERVICING DEALERSHIP 
OKLAHCMA iZENwORTH INC OBA 

MHC KENWORTH - TULSA 
6141 SOUTH 49TH WEST AVENUE 
TULSA, OK 74131 

1-918-446-5521 

Invoice Number: 800483700162241 
Statiii: 

TAX CHARGE 
Sertifiee:Date 

1/10/2014 
ftmoitiegiti  

1/13/2014 

    

 
 

= 

ON= 

PLEASE PAY FROM THIS INVOICE 
TERMS AND CONDITIONS OF THIS SALE ARE SET FORTH BELOW AND THOSE CONTAINED AT www.mhctruck.corn WHICH ARE INCORPORATED HEREIN BY THIS REFERENCE .  

I. PAYMENT: Customer shall pay Dearer me total amount listed on the Ulcer. wnicn snai tie due in cash upon me (ewer by Dealer to Customer or the Flans. unless and set :Teat tens nor CulliDede ae 3P,c.ec m 3.r6nG 
slgnec ny a corporate officer Or autriOnced manager of Inc Dearer For Customers whose credit has been coy appro‘ect in a :Nance by Dealer in a wring wAned by a corporate ortd et: or autnoeTea At voile,  M Ctse', me assraff133 
sue to Dealer (Or the Parts snail be it accoraance miD ireterms of the Cretrir rt. meet 'rent 2zetut?.:1 by Cusiamer xl conne:pon riyrin applying Ice ' refit yam payer Tre tears and prCw3.31R Of Irkj such Credit AciTem.ent 3gInel OY 
Customer are incorporated herein An Interest charge i -r 1  1 5% per month will oe charge a on pas One balances 

2. ARBITRATION: Any contro,erSy or claim an swig out 01 or relating to tne Order snail Se decided by arderadod Waled Steree try tne American Art 3r3barl n a/0CW rise will 	Cconmercal AcOrtamn Rues sicgct 
to me limitatron5 and restrictions as set forth in the Terms and Conallions co ntained at www nil:truck comMealersterrns 

111111111111111111 11111111111111111111111111111111111111111111111111111111 III 	rimAg5EcRo07c7, Customer Copy 

IT Stock
Text Box

IT Stock
Text Box

IT Stock
Text Box

IT Stock
Text Box

IT Stock
Text Box



3826 
Estimate Ref #3,826 
Date Printed: 11/15/2013 
Printed Time: 2:42 pm 

2007 KENTWORTH T600 --- 
VIN: 1XKAD49X27J169610 
License: 

Unit #: 

Mileage Inrer[2(1'3272 

Mileage Out: 0 
DOM: 

DIAMOND S TRUCKING 
PO BOX 520 
Catoosa, OK 74015 
Work: (918) 437-1499 
Cell: 

Date Written: 	11/15/2013 

Written By: DON HARVEY 
Save Old Parts: No 

Payment Date 	Type 
	

Method 
	

Amount 

Payment Totals: 

page 1 Of 

Harvey's Garage, Inc. 
P.O. Box 556 

Des Arc, AR 72040-0000 
Shop Phone: (870) 256-4545 

Fax: (870) 256-4520 
Email: harveysgarage@centurytel.net  

Hat/Ref: 
	 HARVEY'S GARAGE INC 

	 Time Promised: 

Job Name Description 	 Technician Qty List Extended 

Job #1 LARGE WRECKER IN HOUSE TOW 
TO OUT SHOP TRUCK ... 

Labor LGWR Work Requested - LARGE WRECKER IN HOUSE 1.00 550.00 550.00 
TOW TO OUT SHOP TRUCK AND TRAILER 

Job Total: 550.00 

Job #2 LABOR ON REAR END REMOVE 
THIRD MEMBER AND SHA... 

Part COMPLETE FOR REAR END AND POWER DEVIDER 1.00 2,500.00 2,500.00 
Part REAR END FLUID 1.00 76.00 76.00 
Part GASKET MATERIAL 1.00 12.60 12.60 
Labor 	3. Work Requested - LABOR ON REAR END REMOVE 6.00 95.00 570.00 

THIRD MEMBER AND SHAFT AND INSTALL 
Part THRU SHALT 1.00 175.00 175.00 
Part USE YOKE 1.00 95.00 95.00 
Part NUT 1.00 16.21 16.21 
Part REAR SHAFT SEAL 1.00 43.20 43.20 
Part REAR SHAFT BEARING AND RACES 2.00 69.80 139.60 

Job Total. 3,627.61 
Job #3 TRIP CHARGE TO GET PARTS 
Labor 1 	 Work Requested - TRIP CHARGE TO GET PARTS 
Note/Title 

1.00 75.00 75.00 

TRANSMISSION WAS 2 GALLON LOW ON FLUID 

Job Total: 75.00 

Parts: $3,057.61 
Labor: $1,195.00 

Sublet: $0.00 
Misc: $0.00 

Hazmat: * $0.00 
Supplies: • $11.50 

Tax Total: 5362. 46 
Invoice Total: $4,626.57 

WE SELL AND INSTALL ALL TYPES OF TRAILER HITCHES 

IT Stock
Text Box

IT Stock
Text Box



IT Stock
Text Box

IT Stock
Text Box



„,/ 

EAST TULSA TRUCK PARTS & EQUIP, INC. 

25701 E. ADMIRAL 
CATOOSA, OK 74015 

■ 

BILL TO: 
CASH 

P.O. Box 1499 	Catoosa, Oldihoma 74015 

INVOICE 

HIP TO: 
DONALD BECKER 

918/266-4780 
OK WATS 800/722-6327 

ACCT. NO. REF. SOLD BY ORDER NO. MEMO WEIGHT v 	 ORDER DATE tNV. DATE 	I 	INV. NO. 

5000 60 LD 08.15 	AM 	! OP/23L1a_02127412A-12022-5 
QTY. SOLD BK. ORD. MFC PART NUMBER DESCRIPTION CORE LIST 	 SELL EXTENDED T D 

1 
1 
I 
1 
1 
1 
1 
1 
I 
1 
1 
1 
1 
1 
2 
1 
1 
1 
1 

20A 
020 
020 
20A 
20A 
20A 
020 
020 

055 
020 
020 
020 

020 
020 
020 
020 
020 

003*REPAIR 

LAB@SHOP 

S-1659 
16118 
8-3367 
4300907 
4304317 
4300938 
4302041 
K-3492 

DETENT 
GBG-1681 
K-2199 
K-1935 
K-3341 ' 

4302082 
4304615 
K-2918 
'56503 

K-3215 

ASSY PINION 1 
SLIDING CLUTC 
OIL PUMP KIT 
SLIDING CLUTC 
CLUTCH 
GEAR AUX M/D 
GR.MAIN6HAFT 
SYNCHRO KIT 
HOLE IN TOP 
BUSHING 
GASKET KIT 
REPAIR KIT SL 
WRING KIT 
SHOP LABOR 
SNAP RING 
MiS KEY 
OIL SEAL KIT 
BEARING;ASSY 
SHIFT COVER 

125.0 
35.4 

451.7 
67.5 
90.8 

243.7 -  
312.51 
220.91 

3.6- 
51.-1. 
66.81 
17.3 

0.7 
5.81 

36.20 
207.1' 

5.12 

80.00 
23.39 

298.02 
48.85 
49.08 
145.60 
206.26 
145.73 
40.00 
2.17 

33.90 
44.07 
11.41 

350.00 
0.50 
3.83 

23.88 
136.64 
3.38 

80.00 
23.39 

298.02 
48.85 
49.0 
145.6 
206. 
145.7 
40.0 
2.1 

33.9 
44.07 
11.41 

350.00_ 
1.00 
3.83 
23.84 
136.64 
3.34 

T 
T 
T 
T 
T 
T 
I 

T 
T 
T 
T 
T 

T 
I 
T 
T 
T 

X 

, 	. 
. 

IS IS - THE ONLY WARRANTIES APPLYING TO THIS PART(S) ARE THOSE WHICH MAY BE OFFERED BY THE MANUFACTURER. THE SELLING DEALER HEREBY 
EXPRESSLY DISCLAIMS ALL WARRANTIES, EITHER EXPRESS OR IMPLIED, INCLUDING ANY IMPLIED WARRANTIES OF MERCHANTABILITY OR FITNESS FOR A 
'ARTICULAR PURPOSE, AND NEITHER ASSUMES NOR AUTHORIZES ANY OTHER PERSON TO ASSUME FOR IT ANY LIABILITY IN CONNECTION WITH THE SALE 
)F THIS PART(S) AND / OR SERVICE. BUYER SHALL NOT BE ENTITLED TO RECOVER FROM THE SELLING DEALER ANY CONSEQUENTIAL DAMAGES, DAMAGES 
0 PROPERTY, DAMAGES FOR LOSS OF USE, LOSS OF TIME, LOSS OF PROFIT, OR INCOME, OR ANY OTHER INCIDENTAL DAMAGES. 

SUB-TOTAL ( 

CORE 	1 
 

TAX 	I 

SHOP 	i 

FREIGHT 	I 

TOTAL I 

IT Stock
Text Box



Ca toosa,  Oglahoma  740 1 5 

S H I P TO:  
DON ALD BE C KE R 

P. O.  Box  1 499 

U
 

w
 9

 

') 
:I 

Z
 

0
 -u

 

:x.1 
9
 

i, 
-

71 

 
LC 
a
 

c
 

 

1-- I- 

2  '-1
5' 

	

 61 	 
6
 

	

d3-  171 	
	

 
s
 

N
. 

—, ,E6 

E/1, Sk JUBA' TRUCK PARIS 
AND EQUIPMENT 

25701E ADMIRAL PL. 
CATOOSA OK 74015 

918-266-4780 
02/27/2012 	

08:14:31 
Merchant ID: 	

518993970109948 
Device ID: 	

0610 
Terminal ID: 	

P004. 

( r ( 

4
 

r. N-- 

i- 

G
 

6
 

in 
i.,:, 

x 0  cn 

• 

 
,
 1 

"A Ef, -u 
n
 -, 

ES 7U 

--- 1 

s
 

4
' at 

L 
	--, 
• 

• 
r
-
I
 	

1
-4

 

to
 

I 
"LI 

G
 

o Lu 

z ccO
  

cc 
0
 

2 5 c
 1  

,,,., 
' 	

Lu; 
—

4 	
cr 

I' 
-0

  

->
 

'' 'ii 
--1 

Cu 

w
 

co 

a
 

IT Stock
Text Box

IT Stock
Text Box

IT Stock
Text Box


